BEFSER I54//N AVEQRICEATAEBET—S2(SHSE1AY)
(oF::] 3
(A -8 FH¥Y (B)  Rs.1.1-31 (A/8 - ) KEFY (BH) Rs5.1.1-31
8.0 8.0
6.0 6.0
40 4.0
2.0 I I 2.0 I
00 I I I = E = B ! 00 = I I -
OFF & 10BF & 11555 1285 5 1365 5 1485 5 1585 & 1685 & 1765 & 1805 & 1985 & 2085 & 218 & A 1085 A 1165 & 1265 & 1365 & 1455 5 1585 5 16555 1705 5 1885 5 1985 5 200 5 21 &
m ~105% % 2075 % m30/% % w40 n ~10ﬁﬁ 207X m 307 1% w40
m50/% Y m60/% Y w70 AL 507K 607 A% m 70 L B
O%tk
(AB - B) FH¥Y () Rs.1.1-31 (A8 - B) KB¥H (&) Rs.1.1-31
8.0 8.0
6.0 6.0
4.0
| i = B | I I I BN
lIIIIIlllIl lII.=llll
OFF & 10BF & 11K 5 1285 5 1365 5 1455 & 1585 & 1685 & 1765 & 1805 & 1985 5 2085 5 21K & A 1085 A 1165 & 1205 & 138 5 14558 15656 1665 5 1765 8 1885 & 1985 & 2065 &8 21K &
m ~ 1018 207 1% m 30518 w4051 -~1oﬁﬁ m 2071 m 3071 405K
W 507 A% m60/% Y m 70 E 5075 A% 607 A% 70 B
o&ft
(A/B - B) FHFY () Rs.11-31 (A/B - B) RB¥H (A5 R5.1.131
12.0 12.0
10.0 10.0
8.0 8.0
6.0 6.0
4.0 I 4.0 I
2.0 2.0
IIIIIIII'I Ill=-llll

A 106 A 1165 12055 13055 14K 4 15K A 165 A 1765 1805 4 1985 5 20 A 21 A&

n ~1oﬁﬁ
m 507 1%

2075 A%
m 60/ X

m 30518
m 705U b

=405 1%

W7 —2YHRNBET S5 EREE

B 10858 11F 5 1205 5 1305 5 1485 5 1585 4 1605 5 1765 & 1885 5 1955 5 2085 5 215 &5

n ~1oﬁﬁ 20718 m 3071 = 40518
507X m 607 m 70 L

SHEROFHEFICEHLTIBRICKVHRLTEY., T—20REERIT DD TRIIEVFER A,
BEFRNCEZBCRMASRGLIEANL, EXEH -BHEEOTHEEEHLTVET.

HEFR. BRGE. BEREAOT -SIRBEBLEL A,
BETAICELT. SBEE~DBHEERFITEESN,



